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=2 | UZ2AX 18HE HE XX 2432 HIAS XA

XIgeITt I8 HIE (@es A2

o (23 MR E AYH 4GPV ADGAY BFS she B
Agae] AF 2 AY9EW AL Ba) ABXA 2 ARG A9
* @ 6/lfE G5 HAL @ el ES, 8 S AteRs, @ SAt 200 ofgt AE-BY S

o (ZFAWA) 500 mRk

=
1o
ry

2% AgetE YT

* HATIUR- 220l - DEAYEHEEAMH|AMtotal.comwel.or.kr), 2E2SKISTH H=K|AL

o (FAFA AF) EA7FA 713l whzt Hll 77032 109 ~ 2027+

O

* 5 7101 TP X5k~ 1~3E 0P 1202 / ~54 ORF 1500 / ~10: ORF 180! / 1001 210

< AYYX DEHHR U PHIO KNI +F >

(EFS): )

== 153 =3 3E2 == == =3 72
L oH-d o-d oH-d o-d oH-d o-d oH-d

7| 1,820,000 | 2,080,000 | 2340000 | 2600000 | 2860000 | 3,120,000 | 3,380,000

IEHHZ(E) 40,950 46,800 52,650 58,500 64,350 70,200 76,050

pE="
% I—’F:Elﬂ_l z'\_uo |Ogoo % 1,092,000 | 1,248000 | 1,404,000 | 1,560,000 | 1,716000 | 1,872,000 | 2028000

I_

7| EEE)  DEBLSE A X|2022-4972(2022.12.20.)
 EYE &SI EARI0| 2o|dsiot S29| BN (H) x EHREQ.25%) (F 4.1~ 7.62H)

= sa sa sa 459 sa sa 788

TEEHR(Y | 40,950 46,800 52,650 58,500 64,350 70,200 76,050
WL 80 60 50

Rk 32,760 | 37,440 31,590 | 35,100 32,175 | 35100 38,025

* (K| H|8) : (23) HEEHRO| 20~50% — (24) 50 ~80%
* (RIYTR) © (23) 5028, 2.59HY — (24) 15029, 4T3 (9




